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Booklet A (30 x 2 marks)

For each question from 1 to 30, four options are given. One of them is the correct -

aniswer. Make your choice (1, 2, 3 or 4). Shade your answer on the Opfical Answer

Sheet. _ . ‘ 160 marks)

1. Tony wrote some characlerisfics of a goldﬁsh a cockroach and a sparrow. The
characteristics are as foliows:

A Hastwolegs
B Hastwowings

C Layseggs
D Covered with scales

Which of the charactetistics above isfare common to most fish, insects and birds?

{1) Conly -
(2) AandBonly
(3) CandD only

~ (4) B, CandDonly

2. The picture below shows two organisms.

Bind's Nest Fefn Mushroom
How is the Bird's Nest Fem dﬁe:errt fmm the mushroom‘?

Bmi's N&st Fem R Mushroom.
ik -hasﬂowers. o T Khasno flowers.
(2) {Tefeeds onanimats. - |Ttfeeds on plants.

(3) | T veproduces from seeds. | I reproduces from spores. |
(4) | it needs sunlight to grow. . lt dmnotneed sunfight fo grow. - I




3. An expeifiment was carried out fo find out if plants grow tafiér under sunlight. One
potted plant was placed in a cupboard and asimilar potted plant was placed in the -
garden. Which instrument is best used to measure how tall the plant is growing?

Ruler
(2) =| Beaker
Q) jhermometer
@ 1 Weighing Scale

4. Study the diagram below.

| Animal P
— Yes :
Hastwo | .~ ——

Yo | N

Has two
leas?

| AnimalR |

Yes

Aninial S

= Which one-of the animals, P, Q, R or S, represeiits a catStilar?

{(HhP
(2) Q
@R
@S



5. Four pupils made soine statements about micro-organisms.

Amanda  They are fiving things.

Betly All micro-organisms are bacteria.,
Chris Somme fungi are micro-organisms.
. David ~~  They cannot be seen with the naked eye.

Who has made a wrong statement?

(1) Amanda
(2) Betty
(3) Chiis
{(4) David

6. Which of the following functions of the ribcage are true?

A it gives our chestits shape.

8 fthelps usto move our arms.

C It protects our heart and ltings.

D It protects our stomach and small infestine. .

(1} Aand Bonly
(2) A and C only
(3) A, Band C only
4) B, Cand D only

7. Ahmad was climbing up the stails._-.Which-systems wotkitogether to ensure that
he could perform this aclivity? ' '

A Muscular system

B Circulatory system’
C Respiratory system
{1) A and B only

(3) Band C only

4) A,BandC




8. Sheila ate the same amount of 4 different typesof food A; B,C and D. The graph

below shows the time taken tbcompkrreb: diaest the food.

Time taken to
completely 4
digest food
{hour)

>

Type of
food

Based on the graph ahove, which type of food does/do. not get oomp!etely '
digested five hours after they are eaten? .

{1) Donly

(2) AandD only
{3) Band Conly
{4) B and D only

The diagram below shows the fife cycles of Insects Xand Y.

/lnsectx\ .'lnsectY. o
oun - /‘ _ \

‘\./

nymph €~—— €49

Whlch of the fol!omng statemenis are deﬂmte!y tme of Insec!s X and Y‘?

A Insect X lives longer than lnsectY
B Both Insecis X and Y reproduce by faying eggs.
C The iife cycle of Insect X has more stages than Insect Y.

(1) Aand Bonly
(2) Aand Conly
(3) B'and Conly
4) A BandGC



10. Charlie wants to find out whether plants take in different amounts. (_jf water when
placed at different locations in his school. He sets up the following expenment.

— layer of oil
/ container
— 4 _—of water
Setup P SetupR
Setup | Location Amount of water Gien () |
P In the classroom T80
Q |. Undera treeinthe eco-garden 200
R |- Open area of the eco-garden 100

His teacher says that Charlie's experiment is not fair. What change should

Charlie do to make his expetiment a fair tést?

(1} Change the number of plants.
{2) Change the type of plants used.
(3) Change the amount of water given.

{4) Change the places where he should put the plants.




11. A seed is-placed between a damp cotion pad and a dry cotton pad in a container
as shown below. . '

__seed
dry cotton pad

The container is placed near a window. Which one of the following diagrams
shows the growth of the seed after three days?

Y

2)

. ®




12. The diagram below shows the fife cyele of an animat.

/. Egg \
Adutt Nymph |

Which of the following animals goes/go through the fife ‘eycle as shown above?

A Cockroach

B Dragonfly
C Mealworm Beetle

(1) Aonly
{2) Bonly
(3) Aand B only
(4) Band C only

-13. The diagram below shows a grasshopper and ifs young.

Based on your observations, which one of thefollowing is true?

(1) The young moutis o grow bigger.

(2) . The young cannot fly but the aduit can fly.

(3) Theyoung and theadultboth havesixlegs. =
{4) The young eats the same fype of food as e adult.




14. The foliowing diagrams show the life cycles of 2 animals.

—

. Larva

LT CLE
| AdultMosquito |~ | Larva ' ‘Adutt Moth
L Pupa <_J \ Pupa

»

Based on the diagrams above, in what ways are the life cycles of the animals
similar?

A Both.give birth to their young alive.

Both their young do not resemble, the adulis..
Both need fo live in water before the adult stage.

B -
C P - -
D Both have to go through the pupal stage before they become adulis.

(1) Aand B:'oqu'

15.

_ Seedllngs o PatP PolQ
Average helght ofthe ' 25 30
ﬂ:ngstcm) o) R

{(2) Aand D only
(3) Band C only
(4) Band Donly

Gina conducted an expenment. She planted five seedilngs ofthe same type info
two- ldenhca! pols, Pand Q.

Seediings [ PotP PotQ
{ Amount of fertiliser given (g) 0 2
{ Amount of watergiven (ml) 40 40

She took care of them for three weeks and measured the height of the seedlings,
for- seven days as shown below.

Based on the information above, what was the likely aim of the experiment?
(1) Tofind outif the fime. affects the growth of the seedlings.

{2) Tofind outif the'size of pot affects the growth of the seedlings.

(3) Tofind out if the amount of water affects the growth of the seedlings.
(4) Tofind outif the amount of fertiliser aﬁects the growth of the seedl‘ngs :

8



16. The diagram below shows the life cycle of a sfring bean plant.

@ - Stage 1

Stage 2

Stage 3

tick

Which of the following statements isfare true?

- A Sunlight is required for ali the stages of growth.
B The growth of the string bean plantis called its life cycle because in stage 3,
the. string bean plant grows round and round the sfick
C The string bean plant goes through a ife cycle so that there will be new string
béan plants on Earth after the old string bean: piants die.

(1) Aonly
(2) C only
{3) A and G only
{4} Band Conly




17. The table below shows the compartison between the transport systems in animals
and plants. :

Animals ' Plants
A | Made up of blood vessels. ‘Made up.of food-carrying tubes. . |
B | Transport food,' oxygen, carbon | Transport food and waste
dioxide and waste materials materials only.
only. _ ‘ ‘ , :
C | Carry food produced in the Cany food produced by the feaves.
stomach.

D | Heartis needed to circulate . { No organ is .us:ed to pump
materials arotind the system. materials around the system.

Which of the statements isfare true?

(1) Aonly
{2) Donly
(3) Band C only
(4) Cand D only

18. Study the table below. -

Properfies | - [ Materal | Material | Material | Materal
' A _{ B G D
Is it waterproof? ' I No Yes | Yes | Yes
[Ts T light in weight? T o No | Yes | Yes.

1 Can it be attracted by a magnet?. No No Yes . I No

Does Kbreakwien hitwitha | No | Yes | No | Yes
hammer? : . :

Which one of the above matetials is most suitable for making a dcor'key?

(2) Maferial 8
(3) Material C
). Material D

10



19. Lakshmi was giver 4 materials, P, Q, R and S, of different hardness. She used
some of the materials to scratch each other. The observations are as shown in
" the table below.

20,

Arrange the materials from the least hard to the hardest

(1
@
3)
4)

Judy.imade some statements. about a bar magnet:

A A bar magnetis strongest at the poles. .

B Like poles of the bar magnets afiract each other.

C Every bar magnet has-a North Pole and a South Pole.

Obsetvations

Q can scratch P

Pcanscratch R

S can scratch Q

- Least hard — ————> Hardest °

‘ R P Q S
5 " a R
S Q P R
R a P S

Which statements are comect?

(1) A andBonly
(2) AandConly
(3) B and Conly
{4y A,BandC

11




24. A magnet was brought close to a paper clip. The paper clip was atfracted to the

magnet as shown below.

rmagnet

e

paper clip

A The paper-clip-is made of magneﬁc material.

B The South Pole of the magnet cannot attract thé paper clip. -

What conclusion(s) can be made based on the observation above?

¢ Only the Nosth Pole- -of the magnet can atfract the paper clip from a distance.

{1) Aonly

(2) Bonly. .

(3) AandB only
{4) Band C only

22. The following dlagram shows how three bars, A, B and C, mteract wuth one

another.

BarA

BarB

: <A .>

BarA

<~ repel —»
- atfract «— |

<«—— repel —» -

{ Bar B

‘ g BarC

éVBarC _

'W_Baseg on the abo_\_{gpbsewatfons, which of the above bars are magnets?.

(1) Aand B only
(2) Aand C only
{3) Band G only’
{4) A,BandC

12



23.

.Nasir placed a ping pong ball on the édge of the fable. When ke placed object E

close to object F as shown below, the ping pong ball was pushed off the table by
‘object F.

_.ping pongball -

obietE | | ObjectE
i jec 0

table top
Which one of the following statements best describes object E and object F?

(1) Object F is a magnet and ebject E is made of magnetic material
{(2) Object E is a magnetand object F is made of magnetic material. .

~ (3) Bothobjects E and F are magnets and their like poles are facing each. dher

24,

(4} Both objects E and F are magnets and their unlike poles are ficing ezch

other.

Sally used the 'stroke" method to turn an iron nalinfo a magnetas s‘hq;.vn below.

She then placed the iron naif over some iron fif ings. She obsewed that not al! the

filings vere attracted fo the nail. . Which of the foilomng explains why the nail dld
not attract all the filings?

(1) The iron nail was not magne’tised

(2) The iron filing was not magnetised..

(3) The'd iron nalt was not stroked iong enough. :
(4) The iron nail was not stroked with the same pole of the magnet

13




25. Sarah dropped a fing eaeh made of a diffetent material into a plastic containerof -
‘water each. Next, she glided a bar magnet along. thie side of the plastic container |
to try to move the ring from the base of the container to the top.

Set—uﬁ A Setup B Setup C Setup D

Goldring - Copperring  lron ring Silver ring

.~ Inwhich containers would the ring(s) riot move?

(1) Conly

(2) A and B only
(3) B and C only
4 A, BandD only

26. The table below shows different forms of energy and the examples of ifs sources
of energy. Which one of the following is incorfect?

Form(s) of energy 1 Examples of source of
, : _energy ,
¢); Heat . Rubbing hands
@ _Light "~ Moon
3) _ Salar. ' Sun
.. @ [ Heatandiight | Tighted candle _

27. Which of the follo\mng is the best method fo measure the temperature of ahuman .
" body?

(1) Place the paim around the_ neck.
2y~ Place the palmrover the forehead. -
{3) Place the clinical thermometer under the tongue.
"(4) Place the laboratary thermometer underthe tongue.

14



28. A damlogger was placed on a {able facing the window. The table below shows
how the intensity of light chianges with time.

Time (minutes) Tntensity of fight (unis)
5 550 |

1 ' 250

2 255

3 674

- r 689

‘Which of the following statements is/are possible ekp!anaﬁon(s)_ for the sudden
change in light intensity after 2 minutes? ‘

A Alight was tumed on.
.. B Alight was turned off.
€ Sunlight cameinto the roorh.
D The curtains were fu!ly closed.

(1) Aonly -

(2) Aand C only

(3) Cand D only
(4) A,CandD only

15




29. The diagram bélow shows how an object is able to cast2 different shadows when
an identical fight source is shone on it from different positions.

“Position of light saurce Shadow produced

o B Light source

Object
X

e S B -
Light source L. X |- '

What could Objéct X be?.
(1) socoer ball
7)) ] traffic cone
(3)
vase

4 soft drink can

16



30. 3 similar light sources with similar light intensity were shone at 3 different discs.
The shadows of the discs can be seen on the screen as shown below.

screen

T I

Light source  Light source - Light source

‘What material can these 3 discs be made of?.

DiscA DscB | DiscC
(1) - wood lel'asltic " mirror
@ | plasic | Toskedglss | bacing paper
{3) | mirror e frosted glass -'cléar glass
(4) | clearglass ; | tramng paper ' nﬁrro_r
End of Booklet A

17
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Booklet B (40 marks)

For questions 31 to 44, write your answers in this booklst.

The number of marks available is shown in brackets [ ] at the end of each question
or part question. - (40 marks)

31. Ali class‘rﬁéd some things into fwo main groups as shown below.

Group A - Gfo'up B
rubber band _ | . tree..
~“fron nail - T rﬁu-s',h'room |
(a) Give a heading for Group A and éroup B. | 2]
Group A: .
Group B:

(b) Write down one main difference between the tree and the mushreom.  [1]




32. The table below shows the characteristics of some organisms.

Organisms Observations Organisins ]l  Observations

- 3 pairs of legs , - 4 pairs of legs
: - Body has no stripes - 1 body part
% - Body with no spots - Legs are longer than
& S . - - | thebody
~1-Qrganism P _Organism S
- 4 pairs of legs - 3 pairs of legs
- Body with stripes

- 2 body parts

brganism-Q . ) . .
' , ~ 3 pairs of legs - 4 pairs of legs
- - Body has no stripes -] - 1 hody-part
5& » | - Body with spois . - Legs are shorter than |
7 1 thebody ‘
OrganismR_ . .| Organism U
Study the table above and tx;mpléte (a) fo (§) in the classification chait below. ~ [3]
Animals
4 pairs of legs
@ | ——
‘ 1 Bodyin2
, Body has BQdy 1 part . ;part:
{b) | nostipes | | i .
| - L — o___
T _ .
Body : Legs | Legs
-. shorter lony
| I PN W{thgut {than ﬂ’fz“g"er
) l spo body body
] l




- 33. The diagram below shows parts of the human digestive system.

B
A
(@) Name the parts labelled A and B. : {11
A: . .
8.

(b} Mark clearly on the diagram the part(s) of the system where each of the following
processes take place: ' 21

() X, where digestion starts
(i) Y, where digestion ends




34. Calvin ptaced a healthy plant in a beaker of blue-coloured waler as shown in the |
diagram below. He poured a layer of ol into the beaker of water. :

layer of oit
beaker of coloured water—
(@) What changes would he observe after a few days? [1]
('b) What was the aim of Calvin's éxpéﬁment"? _ R [1]-‘ '




35. Study the flowchart below carefully.

Start

(a) Statethe characteristics of organism ‘M. | : 1]

(b) Based on the characteristics shown above in the flowchart, state one similarity
* and one difference between organisms 'K’ and 'L | 173

Simitarity:

Difference:




36. Ali planted some beans and observed the g?owth of the beans. He recorded the
mass of the seed leaves in the tables shown below.

Table A

Day - _ 2 4 6 . 8
Average massofthe | ' | |
seed leaves{g) -5 V7 s L R

. _ Table B
Day ' . 2 4 | 8 8
Average mass of th ' | ,
seed leaves (9) 4 1 3] 2 1

(a) State the-3 necesSaty condifions for the beans fo gemiinate. [}

" {by Based on the o tables above, which Table, A or B, carrectly shows the changes
" inthe mass of the seed leaves? Give a reason for your answer. [21

(¢} How did the seediing get its food for growth after Day 82 i

e




37. Judy sets up an experiment as shown. She wants to find out which material can
soak up the most amount of water.

P Q R |
i § : —stand -

strip of
material

colourad water

She hangs 3 different strips of material from a stand so that the tip of each
material dips info a container of coloured water

The diagram below shows the results of the experiment after 10 minutes.

Q R

{a) Based on the above results, what conelusion can Jﬁdy make? 1

(b) Judy wants to buy a towel which can soak up a lot of sweat for her brother so that
- he could use it for his Sporis Day, Based on the results of the experiment, which
material should she use? Explain. i




38. Viknesh brought a magnet near object P which was fied fo a string as shown in
Diagram 1. It was observed that object P moved away from the magnet and a
distance was maintained between them.

A flame was then placed at one end of the magnet as shown in Diagram 2. After
some time, object P started fo move foward the magnet and the distance between
... them decreased.

Obiject P magnet Object P E magnet
candle
Diagram 1 Diagram 2
{z) Based on the above observatior, what is object P fikely fo. be? 1l
(b) Explain your answer in (a). | | (1]

(c) In Diagram 2, explain why the distance between object P and the maghet
decreased. RN




39, Julie ptaced fwo identical objects.on two tables. Thé two tabletops are of equal
thickness and made of different materials. Then, she held a magnet under each
table as shown in the diagram below.

object

obje
i : ' - 1\ - - |
\\ fabletop
magnet "~ magnet

Table A Table B

When Julie moved the magnet under Table A, the abject moved. However, when
- she moved the magnet under Table B, there was no change in the position of the
object. _

(_a)' Indicate what materials the tabletops of A and B could possibly be made of by

putting ticks () in the table below. . R
[ Wiaterial of Tabletop | TableA | Table B
@ |iron T I 1
@ [Glass | T
(iii) | Wood
(V) | Plastic

(b) What can be concluded from the experiment above? = 11




40. Farooqwants to measure the temperature-of some water in the glass shown
below. '
_F

: glass of water

“(a) To get an accurate measurement, which part of the thermometer must be dipped
in the glass of water? Circle it on the diagram below. [1]

- 40 o 0 20 2 40 50 60 Y3 BO $0 400

(b) Use a pencil to shade on the thermometer below to show & temperature of 40°C.

(1t

@: T T T T T LT T T Ty l'r‘;@'

10 0 10 20 30 40 &4 6 70 80 90 100

10



41. Peter wanted fo set up an electrormagnet with the following materials.

| 1 battery
1 iron nail

(2) His teacher said that there was something missing. Whai was missing? [1]

{b) Give two factors that may affect the strength of an electromagnet. ;[2]
.

()

1




42. John wanted to test if the distance between the torch and the can would affect the
sizé of the shadow formed on a screen. '

torch éan

screen

{a) Besides using the same forch and can, state one main variable John must keep
" thie same if he'wantis to conduct a fair fest. ‘ 1

(b) State how the distance befween the torch and the can would affect the size of the
shadow.’ 1

(¢} How is the shadow of the can formed? _ 1}

12



43. Susan measured the length of the shadow cast by a flag pole on the ground from
8am.to 5 p.m. She recorded her resufts in the line graph below.

Lengthof 1}
shadow (cm) | -

- | - Time of day

(a) Which point on the graph, A, B, C, D or E, bestrepresents 12 noon? {1}

(b)' Deseribe the change in fength of the shadow from 8 a.m. to 5 p.m. 2]

13




44. Jamal wants toﬁnd out which matenais X, Y and Z, alfows light to pass through.
In a dark room; material X was first placed in between a forch and a light sensor

connected fo a datalogger as shown in the diagram below. The experiment was
repeated using materials Y and Z

Dark room

1| 1]

torch - light sensor connected
_ Material X to a datalogger

The results of the experiment are as shown below.

Materials Amount of fight (units)
— : 5

() Based on the table above, what can you conclude about Material X2 [1]

(b) Givea reason why Jamal was wrong when he sugg%ted that Material Zwas a
plece of tracing paper. 1

End of Booklet B

14
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Q31

(a) Group A: Non-living things
Group B: Living things : |
(b) The tree can make its own food while the mushreom cannot make its own food.

Q32
Animals
(a) 3 pairs of legs 4 Pairs of legs
RN E— R L el

(b) body with Body has no Body in 1 part | | Dody 2
stripes Stripes | ' | | parts

S Body withouf | Legs shorter |} Legslonger

(c) Body y g gs-long

with: ots spots { | than body than body



Q33
(@)

A: Small intestine
B: Stomach

(b)

Q34
- (@) The leaves or flower turned blue and the water level in the beaker decreased
(b) To find out if the roots of the pfant take in water.

Q35
(a) M has a 3-stage life cycle. It cannot make its own food and |t does not reproduce. by
spores.
(b) Similarity: Both have a 3-stage life cycle.
Difference: K can make its own food but L cannot make its. own food.

Q36

(@) Air, water and suitable temperature.

(b) Table B. The seedling obtained food stored in the seed leaves, so the mass
decreased.

(c) The seedling has leaves to make its own food.

Q37

{(a) Judy can conclude that material P is the most absorbent, Q is the less absorbent than -
P and R is waterproof, -

(b) she should. use-material-P-as it is the-most-absorbent material of the ‘three sincea~
towel is suppose to absorb water from our body.

Q38 |
(a) Object P is likely a magnet.




(b) Magneté repel when their like poles face each other. As in diagram 1, when the
magnet is placed near objet P, it headed in the opposite direction. :
(c) The magnet lost its magnetism when heated.

Q39
@)L - o R
' Material of Tabletop Table A \ Table B -
(i) . | Iron § - . v
(i) | Glass v B
(iii) -{ Wood | . v
(iv) | Plastic v

(b)Magnetism cannot pass through non-magnetic object such as glass, wood and
plastic.

Q40
(a)
(b) - L
T o (“ :1 g ! ,f"l,,',,.,_, T '~';7['?1£.';'|.!‘_1-; T |,| 11_‘ Trg@ ‘l
| IR .0: 40- 20 30 4p - 64 B0 70 80 96.100; ‘
Q41

(2) The wire
(b) (i) The number of batteries
-~ (ii)The-numberof-coils.of . wire around the.iron nail.

- Q42 -

() The distance between the can and the screen

(b).if the torch moves nearer to the can, the shadow of the of the can would be bigger.
Tf the torch moves further away from the can, the shadow of the can would be smaller.

3



(c) Light travels in a straight line. As the can is opaque, it blocks the light from the torch,
Thus a shadow is formed.

Q43

(a) Point C . \

(b) At 8am and 5pm the Iength of the shadow is the Iongest From 8am to 12noon the
length of the shadow is decreasing. At 12 noon, the shadow is the shortest. From 12
noon to 5pm, the length of the shadow is,increasing.

Q44

(a) X is opaque. :

(b) Z allows the-most amount of light to pass through so Z could not be a tracing paper
as tracing paper allows some light to pass through.
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